** Areas of Non-Similar Triangles

(A) Non-Similar Triangles with a Common HEIGHT

AABC, AACD and AABD have the same height, 4.
Area of AABC= S x| X h
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Area of AABD = 5 # 2% h

- ratiooftheseareas= | : 2 : 3 =raticof their] base

(B) Non-Similar Triangles with a Common BASE

AABC, AABD and AABE have the same base, b.
Areaof AABC= 5 xbx 5
Area of AABD= &5 x bx 3
Area of AABE= 5 x b %\ 5

- ratio of theseareas= 5 : 2 : | =ratioof their height
()

(C) Non-Similar Triangles without common base nor common height

Two triangles’ bases are in the ratio 1 : 5 while their heights are in the ratio 3 : 4.
What is the ratio of their areas?
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Aca o A = SxIx 3

Area of{ B=5x5x4
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- ratio of these areas= 3 : 20 : ) =ratioof their base x %G\UH
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In the diagram, PQ is parallel to AC. Given that BQ =4 cm, BC = 10 cm and area of ABPQO =8 cm?,
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In the figure, ABC is a straight line and ZDAC = ZBDC.
(1) Name an angle equal to ZDBC.

Given further that AD =5 cm, BD =4 cm and DC =7 cm,
(i)  calculate AC and BC,

(iii)  if the area of ABCD = g cm® ﬁnd in terms of a, the area of AABD.
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